
Day 1-MCR3U
Name: i (\ -rex. C 5°1 n )

Date:______________________

1. Simplify.
a) (x2 - 3x + 5) - (2x2 - 5x - 7)

Working with Polynomials

b) x(2x - 3)2 - 2x(x - 4)
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2. Simplify. Hint: work inside out (do inside brackets first, then bigger outside brackets), 
a) 4[2x - (3 - 5x)] + 3[3x - (4 + x)] b) 5[x - (2x + 3)] - 2[4x - (x + 1)]
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3. Simplify.
a) (x + 2)(x2 - x - 2)
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b) (1 - x)(x3 - x2 + 3x)
LA

.x :3, .x4s.3.-x- - ^->3/ 

~:=e *1+ 2- ix3 -;x Z't- 3 x_

_ ''2—

c) (2 - x2)(3 + x2 - x3)
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d) (x2 + l)(x2 - 3x + 5)
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Solutions:
1. a) -x2 + 2x + 12 b) 4x3 - 14x2 + 17x 2.a) 34x - 24 b) -llx - 13
3. a) x3 + x2 - 4x - 4 b) -x4 + 2x3 - 4x2 + 3x c) x5 - x4 - 2x3 - x2 + 6 d) x4 - 3x3 + 6x2 - 3x + 5
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4. Simplify.
a) (x + 3)(x - 1) - (x - 5)(x - 2)
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b) (2x2 - l)2 - (4 - x2)2
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5. Simplify.
a) (x - l)(x + 3)(x + 1) + (2x - l)(x - 2)
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b) (2a + 7)2(a - 2) + 2(az - l)(4a + 3)
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6. Jake wrote the following: (x + l)2 - (x + 2)(x - 3) = x2 + 2x + 1 - x2 - x - 6
= x - 5

What mistake(s) did he make? Write a correct simplification, and explain how to avoid making Jake's
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7. Ifx + y+ z= l and x2 + y2 + z2 = 3, find the value of xy + xz + yz.
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Solutions:
4. a) 9x - 13 b) 3x4 + 4x2 - 15 5. a) x3 + 5x2 - 6x - 1
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b) 12a3 + 26a2 - 15a - 104
6. Jake did not subtract the last 2 terms. The correct answer is 3x + 7. Avoid this error by using brackets. 7. -1

Homework: p. 88 # (4-6)ef, 10-12,17a 
p. 95 #2,4ef,5e,8-10,13,14a
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